

Research in the Mathematical Sciences

The sums of powers of integers natural even, odd.

--Manuscript Draft--

Manuscript Number:	RMSS-D-15-00105
Full Title:	The sums of powers of integers natural even, odd.
Article Type:	Short report
Funding Information:	
Abstract:	The purpose of article is to find a general formula new which permit to calculate the sums of powers of integers natural even and odd, using the formula of the binomial of Newton, the formula of Faulhaber as well as numbers of Bernoulli
Corresponding Author:	Abdelkarim Assoul, Diplôme d'Etudes Supérieures secondary level Annaba, Annaba ALGERIA
Corresponding Author Secondary Information:	
Corresponding Author's Institution:	secondary level
Corresponding Author's Secondary Institution:	
First Author:	Abdelkarim Assoul, Diplôme d'Etudes Supérieures
First Author Secondary Information:	
Order of Authors:	Abdelkarim Assoul, Diplôme d'Etudes Supérieures
Order of Authors Secondary Information:	
Author Comments:	I hope that my work be published in you journal.thanks
Suggested Reviewers:	

Article:

The sums of powers of integers natural even, odd

By: Assoul Abdelkarim

Professor of Secondary Education

Abstract:

In number theory, the sums of natural integers from 1 degree up to p th degree are known:

$$\sum_{i=1}^n i = 1+2+3+\dots +n = \frac{1}{2}n (n+1)$$

$$\sum_{i=1}^n i^2 = 1^2+2^2+3^2+\dots +n^2 = \frac{1}{6}n (n+1) (2n+1)$$

$$\sum_{i=1}^n i^3 = 1^3+2^3+3^3+\dots +n^3 = \frac{1}{4}n^2 (n+1)^2$$

$$\sum_{i=1}^n i^4 = 1^4+2^4+3^4+\dots +n^4 = \frac{1}{30}n (6n^4+15n^3+10n^2-1)$$

.
. .
.

$$\sum_{i=1}^n i^p = 1^p + 2^p + 3^p + \dots + n^p = \frac{1}{p+1} \sum_{j=0}^p \binom{p+1}{j} B_j n^{p+1-j} \quad (1)$$

That $B_j, j=1,2,\dots,p$ are the Bernoulli numbers (2)

n	0	1	2	3	4	5	6	7	8	9	10	11
B_n	1	$\frac{1}{2}$	$\frac{1}{6}$	0	$-\frac{1}{30}$	0	$\frac{1}{42}$	0	$-\frac{1}{30}$	0	$\frac{5}{66}$	0

The purpose of article is to find a general formula new which permit to calculate the sums of powers of integers natural even and odd, using the formula of the binomial of Newton, the formula of Faulhaber as well as numbers of Bernoulli

(1) Formula Faulhaber

(2) We take the Bernoulli number $B_1 = +\frac{1}{2}$

1
2
3 **1. The sum of the p th level of peer integers.**
4
5
6

7
8 **1.1 The sum of the integers natural peers.**
9

10 For any natural number n, we have:

11
12
$$\sum_{i=1}^n 2i = 2+4+6+\dots+2n = n(n+1)$$

13
14
15

16
17
18 **Proof:**

19
20 For any natural number n, we have:

21
22
$$\sum_{i=1}^n 2i = 2\sum_{i=1}^n i = n(n+1)$$

23
24
25
26
27

28
29 **1.2 The sum of the integers natural peers of 2 nd degree.**
30

31 For any natural number n, we have:

32
33
$$\sum_{i=1}^n (2i)^2 = 2^2+4^2+6^2+\dots+(2n)^2 = \frac{2}{3} n(n+1)(2n+1)$$

34
35
36
37

38
39
40 **Proof:**

41
42 For any natural number n, we have:

43
44
$$\sum_{i=1}^n (2i)^2 = 4\sum_{i=1}^n i^2 = 4 \times \frac{1}{6} n(n+1)(2n+1) = \frac{2}{3} n(n+1)(2n+1)$$

45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1.3 The sum of the integers natural peers of 3rd degree.

For any natural number n , we have:

$$\sum_{i=1}^n (2i)^3 = 2^3 + 4^3 + \dots + (2i)^3 = 2n^2 (n+1)^2$$

Proof:

For any natural number n , we have:

$$\sum_{i=1}^n (2i)^3 = 8 \sum_{i=1}^n i^3 = 8 \times \frac{1}{4} n^2 (n+1)^2 = 2 n^2 (n+1)^2$$

In the same way, we found:

$$\sum_{i=1}^n (2i)^4 = \frac{8}{15} n (6n^4 + 15n^3 + 10n^2 - 1)$$

$$\sum_{i=1}^n (2i)^5 = \frac{8}{3} n^2 (2n^4 + 6n^3 + 5n^2 - 1)$$

1.4 The sum of the integers natural peers of p th degree.

Formula. for any natural number n , we have:

$$\sum_{i=1}^n (2i)^p = \frac{2^p}{p+1} \sum_{j=0}^p \binom{p+1}{j} B_j n^{p+1-j}$$

où $p \in \mathbb{N}$, $p < n$ et B_j the numbers of Bernoulli.

1
2 **Proof:**

3
4
5 It can be easily seen that for any integer n, it was:

$$6 \sum_{i=1}^n (2i)^p = 2^p \sum_{i=1}^n i^p$$

7
8
9 We apply the formula of de Faulhaber, there is:

$$10 \sum_{i=1}^n (2i)^p = \frac{2^p}{p+1} \sum_{j=0}^p \binom{p+1}{j} B_j n^{p+1-j}$$

11
12
13
14
15
16
17
18 **Example:**

19
20
21 1) For p=1, it was: $\sum_{i=1}^n 2i = \frac{2}{2} \sum_{j=0}^1 \binom{2}{j} B_j n^{2-j}$

$$22 = \binom{2}{0} B_0 n^2 + \binom{2}{1} B_1 n$$
$$23 = n^2 + n = n(n+1)$$

24
25
26
27
28
29
30
31
32 2) For p=2, it was: $\sum_{i=1}^n (2i)^2 = \frac{4}{3} \sum_{j=0}^2 \binom{3}{j} B_j n^{3-j}$

$$33 = \frac{4}{3} \left[\binom{3}{0} B_0 n^3 + \binom{3}{1} B_1 n^2 + \binom{3}{2} B_2 n \right]$$
$$34 = \frac{4}{3} \left[n^3 + \frac{3}{2} n^2 + \frac{1}{2} n \right] = \frac{2}{3} (2n^3 + 3n^2 + n)$$
$$35 = \frac{2}{3} n (2n^2 + 3n + 1) = \frac{2}{3} n (n+1) (2n+1)$$

36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1
2
3 **2. The sum of natural integers odd of p th degree.**
4
5
6

7 **2.1 The sums of natural integers odd.**
8
9

10 For any natural number n, we have:
11

$$\sum_{i=0}^n (2i + 1) = 1+3+5+\dots+(2n+1) = (n+1)^2$$

12
13
14
15
16
17
18
19 **Proof: for any natural number n, we have:**
20

$$\sum_{i=0}^n (2i + 1) = 2 \sum_{i=1}^n i + (n+1) = n(n+1) + (n+1) = (n+1)(n+1) = (n+1)^2$$

21
22
23
24
25

26 **2.2 The sum of natural integers odd of 2 nd degree.**
27
28

29 For any natural number n, we have:
30

$$\sum_{i=0}^n (2i + 1)^2 = 1^2 + 3^2+\dots+(2n+1)^2 = \frac{1}{3} (n+1) (2n+1) (2n+3)$$

31
32
33
34
35
36
37
38

39 **Proof:**
40

41 For any natural number n, we have:
42
43

$$\begin{aligned} \sum_{i=0}^n (2i + 1)^2 &= 4 \sum_{i=1}^n i^2 + 4 \sum_{i=1}^n i + (n + 1) \\ &= \frac{2}{3} n (n+1) (2n+1) + 2n (n+1) + (n+1) \\ &= (n+1) \left[\frac{2}{3} n (2n+1) + 2n+1 \right] \\ &= (n+1) (2n+1) \left(\frac{2}{3} n+1 \right) \\ &= \frac{1}{3} (n+1) (2n+1) (2n+3) \end{aligned}$$

44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1
2
3 **2.3 The sum of natural integers odd of 3 th degree.**
4

5 **For any natural number n, we have:**
6

$$\sum_{i=0}^n (2i + 1)^3 = 1^3 + 3^3 + \dots + (2n+1)^3 = (n+1)^2 (2n^2 + 4n + 1)$$

7
8
9
10
11
12
13
14
15
16 **Proof:**

17
18 **For any natural number n, we have:**
19

$$\begin{aligned} \sum_{i=0}^n (2i + 1)^3 &= (n+1) + \sum_{i=1}^n (2i)^3 + 3 \sum_{i=1}^n (2i)^2 + 3 \sum_{i=1}^n 2i \\ &= (n+1) + 8 \sum_{i=1}^n i^3 + 12 \sum_{i=1}^n i^2 + 6 \sum_{i=1}^n i \\ &= (n+1) + 2 n^2 (n+1)^2 + 2 n (n+1) (2n+1) + 3 n (n+1) \\ &= (n+1) [1 + 2n^2 (n+1) + 2n (2n+1) + 3n] \\ &= (n+1) (2n^3 + 6n^2 + 5n + 1) \\ &= (n+1)^2 (2n^2 + 4n + 1) \end{aligned}$$

20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42 **In the same way, we found:**
43

$$\sum_{i=0}^n (2i + 1)^4 = \frac{1}{15} (n+1) (48n^4 + 192n^3 + 248n^2 + 112n + 15)$$

$$\sum_{i=0}^n (2i + 1)^5 = \frac{1}{3} (n+1) (16n^5 + 80n^4 + 140n^3 + 100n^2 + 27n + 3)$$

1
2 **2.4 The sum of natural integers odd of p th degree.**
3

4
5 **Formula. for any natural number n, we have:**
6

7
$$\sum_{i=0}^n (2i + 1)^p = n+1 + \sum_{k=1}^p \left[\binom{p}{k} \sum_{i=1}^n (2i)^k \right]$$

8
9

10
11
12 **Proof:**
13

14
15
$$\sum_{i=0}^n (2i + 1)^p = 1^p + 3^p + 5^p + \dots + (2n+1)^p$$

16
17
$$= 1 + (2+1)^p + (4+1)^p + \dots + (2n+1)^p$$

18
19
$$= 1 + \sum_{i=0}^p \binom{p}{i} 2^i + \sum_{i=0}^p \binom{p}{i} 4^i + \dots + \sum_{i=0}^p \binom{p}{i} (2n)^i$$

20
21
$$= n+1 + \sum_{i=1}^p \binom{p}{i} 2^i + \sum_{i=1}^p \binom{p}{i} 4^i + \dots + \sum_{i=1}^p \binom{p}{i} (2n)^i$$

22
23
$$= n+1 + \binom{p}{1} 2 + \binom{p}{2} 2^2 + \dots + \binom{p}{p} 2^p$$

24
25
$$+ \binom{p}{1} 4 + \binom{p}{2} 4^2 + \dots + \binom{p}{p} 4^p$$

26
27
$$+ \dots$$

28
29
$$+ \binom{p}{1} (2n) + \binom{p}{2} (2n)^2 + \dots + \binom{p}{p} (2n)^p$$

30
31
32
33
$$= n+1 + \binom{p}{1} [2+4+6+\dots+2n]$$

34
35
$$+ \binom{p}{2} [2^2 + 4^2 + \dots + (2n)^2]$$

36
37
$$+ \dots$$

38
39
$$+ \binom{p}{p} [2^p + 4^p + \dots + (2n)^p]$$

40
41
42
$$= n+1 + \binom{p}{1} \sum_{i=1}^n 2i + \binom{p}{2} \sum_{i=1}^n (2i)^2 + \dots + \binom{p}{p} \sum_{i=1}^n (2i)^p$$

43
44
45
$$= n+1 + \sum_{k=1}^p \left[\binom{p}{k} \sum_{i=1}^n (2i)^k \right]$$

46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1
2
3
4
5 **Example: if we apply this formula for p=0, p=1, p=2, we find:**
6

7
8 **P=0:**
9

10
$$\sum_{i=0}^n (2i + 1)^0 = 1^0 + 3^0 + \dots + (2n+1)^0 = n+1$$

11
12
13

14
15 **P=1:**
16

17
18
$$\sum_{i=0}^n (2i + 1) = 1 + 3 + \dots + (2n+1)$$

19
20
$$= n+1 + \sum_{i=1}^n 2i$$

21
22
$$= n+1 + n(n+1)$$

23
24
$$= (n+1)^2$$

25
26
27
28
29
30

31 **P=2:**
32

33
34
$$\sum_{i=0}^n (2i + 1)^2$$

35
36
$$= 1^2 + 3^2 + \dots + (2n+1)^2$$

37
38
$$= n+1 + \sum_{k=1}^2 \left[\binom{2}{k} \sum_{i=1}^n (2i)^k \right]$$

39
40
$$= n+1 + \binom{2}{1} \sum_{i=1}^n (2i) + \binom{2}{2} \sum_{i=1}^n (2i)^2$$

41
42
$$= n+1 + 2n(n+1) + \frac{2}{3} n(n+1)(2n+1)$$

43
44
$$= (n+1) \left[1+2n + \frac{2}{3} n(2n+1) \right]$$

45
46
$$= (n+1) (2n+1) \left(1 + \frac{2}{3} n \right)$$

47
48
$$= \frac{1}{3} (n+1) (2n+1) (2n+3)$$

49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

1
2
3 **Référence :**
4
5
6
7

8 1. **(en)** John Horton Conway et Richard Guy, *The Book of Numbers*, Springer Verlag,
9 1998 (ISBN 0-387-97993-X), p. 107
10

11
12
13
14
15 2. **(en)** Eric Weisstein, *CRC Concise Encyclopedia of Mathematics*, Chapman & Hall/CRC,
16 2003 (ISBN 1-58488-347-2), p. 2331
17

18
19
20
21
22 3.↑ **(en)** Henry W. Gould **(en)** , « Explicit formulas for Bernoulli numbers », *Amer. Math.*
23 *Monthly*, vol. 79, 1972, p. 44-51.
24

25
26
27
28 4.↑ **(en)** L. Carlitz, « Bernoulli Numbers », *Fibonacci Quart.*, vol. 6, 1968, p. 71-85.
29
30

31
32 5. **(en)** Cet article est partiellement issu de l'article de Wikipédia
33 en [anglais](#) intitulé « [Bernoulli number](#) » ([voir la liste des auteurs](#)).
34
35

36
37
38 6. **(en)** Cet article est partiellement issu de l'article de Wikipédia
39 en [anglais](#) intitulé « [Faulhaber's formula](#) »([voir la liste des auteurs](#)).
40
41

42
43 7.fr.wikipedia.org/wiki/Nombre_de_Bernoulli
44
45

46
47
48 8.fr.wikipedia.org/wiki/Formule_de_Faulhaber
49
50

51
52 9. Raphaël Danchin, Rejeb Hadiji, Stéphane Jaffard,
53 Eva Löcherbach, Jacques Printems, Stéphane Seuret
54

55 « Cours arithmétique et groupes ». 2006-2007
56
57

58
59
60 10. Maxime Bourrigan « summae_potestatum » Culture Math
61
62

Corresponding Author Information:

Assoul Abdelkarim

**Teacher of mathematics at the secondary level
Annaba-Algeria**

Adresse : 396 Logements B8 N137 Boukhadra

23000 Annaba-Algeria

E-mail : assak_maths@yahoo.fr

Assoulabdelkarim1@gmail.com

Tel : +213792556774